S.427

5.127 Water flows steadily down the inclined
pipe as indicated in Fig. P5.127. Determine the
following: (a) The difference in pressure p, — p,.
(b) The loss per unit mass between sections (1)
and (2). (¢) The net axial force exerted by the
pipe wall on the flowing water between sections
(1) and (2).
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(a) The diffevence in pressure , p- P, , may be obfamed ﬂm:«y the

manometer (see Sechon 2-6) with the fluid statics eguation
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(b) e foss per unit Wit/ betweer Sechons(r) and(2) may be oblasned
with £g. 5.79. Thus
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(c) The net ax/a/ ﬁrce exerfed by the pige wall on the 7(/0,,,,,37 3
watcy may be obfamed by Using he axial Component of the linear
momentum  eguation ( €g- 5:22). Thus % The Conbol volume Shown abwve
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And .
R ==7221b = 772.2 16 opposite 1o Flow divechon .
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